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In [6] : = Bessel] [0, 14.5]

Out [6] = 0.0875449
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In [8] : = N [Zeta [112 + 13 1], 40]

Out [8] =0.443004782505368189197897441332849126
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In [9] : = Nlntegrate [Sin [Sin[x]], {x, 0, Pi}]

Out [9] = 1.78649
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In [10] : = FactorInteger [70612139395722186]

Out [10] = {{2, 1}, {3, 2}, {43, 5}, {26684839, 1}}
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In [1] : = Plot [Sin [Exp[x]], {x, 0, Pi}]
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In[1]: =5+7
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In[2]: =3 7 100
Out [2] = 515377520732011331036461129765621272
702107522001
In [3] : = N [%]
Out [3] = 5.15378 107
B ga 2581 Sz 4 Ol e S 4z AL e b
= JT-X G1,V10 s 9,
In [4]: = N [Sqrt [10], 50]
Cnt|34]=3.1622776601683793319988935444327185337
195551393252
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In[5]: =@ +4D~10
Out [5] = -9653287 + 1476984 1
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In [4] : = Integrate [x~2 Sin [x] "2, X]
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In[5]: = D [%, x]

Out [5] =

X2 Cos[2x] | (12 x2) Cos [2 x]
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In [6] : = Simplify [%]

Out [6] = x? Sin [x]?
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In [7] : = Series [%, {x, 0, 14}]
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In [8] : = Series [(f[x + h] - f [x - h]) / (2h), {h, O, 6}]
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In [2] : = Solve [%, x]
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In [2] ©~ = Expand [% " 3]
Out [2] = 5832 x3 + 9720 x* + 5400 x> + 1000 x° +
17496 x%y + 30132 x3y + 17280 x% + 3300 x%y +
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+ 1242 xy* + 393 x%y* + 54y5 + 33 xy0 + y0
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In [3] : = Factor [%]
Out [3] = (x +y)3 (18 + 10x + y)?
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In [6] : = DSolve [y [x] - k y[x] == 1, y[x], x]
C 1]

Out [6] = {{y[x] -> - (%) , sqrt [K] x
E

+ ESartk]x ¢ [2”}

In[7] : = NDSolve [{y" [x] + Sin [x] “2y'[x] + y [x]
== Cos [x] ~2,y[0] == 1,y [0] == 0}, y, {x, 0, 20}]
Out [7] = {{y -> InterpolatingFunction [{0., 20.},
<>]}}
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In [8] : = Plot [Evaluate y[x] /. %], {x, 0, 20}]
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7 + Sqrt [49 - 12 a] }
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Out [2] = {{x -> 0}, {x ->

5 7-Sqrt [49-12 a] 1
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In[3]: =Solve [fax+by==0,x+y==c},
{x, y}]
P o bc o _ac
Out 3] = {{x- > - ( a-b)’y > a-b}}
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In [4] : = NSolve [x~5 + 2x + 1 == 0, x]
Out [4] = {{x - > -0.701874 - 0.879697 1}, {x ->
-0.701874 + 0.879697 1}, {x -> -0.486389}, {x ->
0.945068 - 0.854518 I}, {x -> 0.945068 + 0.854518 I}}
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In [5] : = FindRoot [{Sin[x] == x -y, cos [y] ==
x +y}, {x, 1}, {y, 0}]
Out [5] = {x -> 0.883401, y -> 0.1105}
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